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Answer any five questions. Good luck!
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Marks :
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TN R T
I Define the terms: (i) Principal plane (ii) Swing (iii) Angle of tilt (iv) Isocenter (v) Tilted
Photograph.
2 /A 20m chain was found to be 10em too long after chaining a distance of ISOOm. It was 10
found to be 18cm too long at the end of the day’s work after chaining a total distance of
2900m. Assuming the chain to be correct at the start of the day’s work, find the true
distance measured. ’ ,
3 [The following bearings were observed from a Prismatic Compass. Mention the Stations 10 e
affected by local attraction and determine the corrected bearings of the Traverse.
Line | Fore Back
Bearing | Bearing
AB 45°45' 226°10'
BC 96°55' 277°05'
CD 29%45' 209°10’
DE 324°48' 144°48’
4. [Explain in detail (i) errors and sources of errors in surveying, (ii) Temporary adjustments in| 10 | -
Plane Table Survey.
I
5.(a]Write the differences between Prismatic Compass & Surveyor’s Compass. 05
| (b)[The magnetic bearing of Sun at Noon is 277°05" and the declination of the place is 7°05'W | 05
Find the True bearing of the place of observation.
) 6. [Explain the importance of maps in detail. 10 L]
7. /A line AB 2Km long lying at an elevation of 500m measures 8.65 cm on a vertical 10 | > ||
photograph whose focal length of the camera lens is 0.2m.Determine the scale of the
photograph in the area whose average elevation is 800m.
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